1 IR

T &%) RitFDOHNTHONT

Jml

F CGER) KEFEOARICEI VMY E-1ERIZ. fEERISMD
DN Z Z TG BN D DT80, é&%ﬂ@ﬂ% \ZH7- - T,
By mf%%ﬁot@AXi@A BiT5 1 RFAAICES H O
L. AEEEIZEDLLT [FE=F~DRMTE] ZiTDR\W\Z

N O\ % H

o

Tl R



EXEIPERE (AN01)

TE4 |R6ME AR - JINEE M7 e 7 BUERMN TF ( FEXS Sy
O FRELR) THERXS Ze e N LI
TEXSy - TFE - &R - 5] Hiks HAAL iy Bl &FA B - BEHER T
Zeb- N T
= 1 37, 520, 660
VHI T
= 1 36, 796, 160
THW T ny) T
= 1 36, 796, 160
WY ARE 6D 7wy ) B ggyg@ﬁ(ﬂzo BT a7, 7 (R 18
=) 8t
1A 144 123, 600 17, 798, 400
WHIARE D7 ny /R E ;* ny PR (LX) < GEfT ny 7, 7 ) i (R &) : 9
t
1A 384 6, 524 2,505, 216
3 S e IR 7 0y /Bl 5. 5t 2 8 % 11. OtEL T, (3 2
BRI D7 7 <45  FiA 2 ST GRLAR) | BTk 11, A0 3
. 5kmPL T
1A 384 2,231 856, 704
W7 B +0 7 vy SRR CR0) < §kR57 097, 7 vy )T (R ) © =
&j&%%yﬁﬁ (1) 7. 5&%@%124 5tu1§?7*u;7ﬂ%)\{ﬁ£b o ar
1A 272 38, 700 10, 526, 400
AT + 3 7 vy PR (B < 87 w07, 7 ny /AR (R ) © B
i{%ﬁﬁi%%ﬁ%ﬁ (s ) T 5UAZ 12 SULR, 7 o AL o
1A 112 45, 620 5, 109, 440
e T
= 1 724, 500
BB T
= 1 724, 500
I B 6
AH 50 14, 490 724, 500
FfE e 2
= 1 3, 789, 630
M Ew T
= 1 3, 789, 630

=N

CEY
iy
m




EXEIPERE (AN01)

TE4 |R6ME AR - JINEE M7 e 7 BUERMN TF ( FEXS T T
O FRELR) THERXS g
TEXSy - TFE - &R - 5] Hiks HAAL iy Bl &FA B - BEHER T
=T
= 1 3,789, 630
VARPVE © B 75
fie b
& 144 13, 780 1, 984, 320
VARTYE &N H 8
GE
& 117 15, 430 1, 805, 310
[EREARE Xy
= 1 41, 310, 290
IR
= 1 6, 907, 800
B 2
= 1 3, 235, 800
TE A
= 1 628, 100
VEZEMSE 2 W E B 95
=] 1 628, 100 628, 100
HEfif &
= 1 323, 700
Bint Q) N 1e
= 1 323, 700
g
= 1 2, 284, 000
PN T DN P2 B 1059
H 20 114, 200 2, 284, 000
I (Fith)
= 1 3,672, 000

5
I
N




EXEIPERE (AN01)

TE4 |R6ME AR - JINEE M7 e 7 BUERMN TF ( FEXS Sy
O FRELR) THERXS fE e 2
TEXSy - TFE - &R - 5] Hiks HAAL Bl &FA B - BEHER T

W

= 48, 218, 090

Bl s PR

= 11, 948, 000
T 25U

= 60, 166, 090
— R S

= 10, 973, 910
TS

= 71, 140, 000
T BiAR K OVt D7 T 2 B4R

= 7,114, 000
THHF

= 78, 254, 000

=N

CEY
iy
m




S — BAAMAE A A 2024. 06
jt [ \é/[ D WE‘R% A AR A 2024. 06
H = S TR AR 1. 000-00000 0.0 0
BinE ()
N 1e
LFR - K ELs BN o BTl & R - SKEHE L
e RE R AR ) P=AT RIS, 1TH, 441
,32H,6H
= 323, 700
ot 323, 700
7oL I I




A E FH A A 2024. 06

NN /2
1 yj( @’fﬂf] %% At H AF A 2024. 06
T B IR

1.000-00000 0.0 O

Woo1e VAR [E 6D 7 vy ) B4R VARTYE: & NG WS A= R/ A
VRS (R &) 18t BAAT il BT 144 B 193, 600
LR - B S BAAT g HAA &HE SE
VHI AR [E 67 ny ) SR 5.5t 2 11. 0tLL T, SR pr B
TE7" ny ) 10t A0, 18-8-40 (7 47), 3. 2
om3% # %.3. 45m3LL T, 16. 24m2 % 1E 144 118, 800 17, 107, 200
AT T[T B SD295 D10, — A& 4, 10t A, HE,
I, e, M 45 E A (BRI A 10%A T
Eie), fIEME (—AEEY) t 1.21 176, 200 213, 202
e T[4 HA ] SD345 D16~25, — % &Y, 10t AR
, A A AN A O A (B EIA10%
e Te), M E M (— s EY) t 2.63 177, 300 466, 299
&t 17, 786, 701
-y 123, 600 M@

|
(2]

|
5
I
3E



N N A 4 A 2024. 06
1 ﬁ(@ﬁﬂi@ A A A 2024. 06
SRR 1.000-00000 0.0 0
Wooon VAR [E 6D 7 vy M E 7wy ) FEAE (U (8k57 ny), 7 ny)
FE¥E (F2E &) 18t BAAT il BT ] B 6. 524
LR - B % BAAT g B & SE
VHIAR [E 67" vy ) A E Y 5.5t &2 11. 0tLA T, 777V=)v=v(
EMRHEY 77) 25t i, FE v
&l 2,315 2,315
THIEARE D7 1y I FEHA F 5.5tZ 2 11. 0tLAF, 777V—v71=(
ARG 77) 251 i, A
&l 2,195 2,195
VAR [ 6D 7 1y ) 17 1) 5.5tZ 2 11. 0tLA T, 777V=2)v=v(
ARG 77) 251 i, A
& 2,014 2,014
e 6, 524
-y 6, 524 M@
_ 6 - TR0 IR




N Ny 2 A 4 A 2024. 06
1 /ﬁ( @’fﬂfﬁ%é At H AF A 2024. 06
SRR 1.000-00000 0.0 0
Woo3E T AR E 6D 7 vy ) e THIARE 67 ny /e 5. bt 2B 2 11
COtBLT, TR XSy FEA B BT ( ==y il AT S ] HAA 9 931
WA , AR 2 1, B 0. SkmbL )
LW - B S ==y B HAA & SE
THIRARE D7 vy ) E 5.5t& B2 11. 0tLLF, FEiAZ - o4
F (ELAR) , 148, 0. 5kmEL T
&l 2,231 2,231
aat 2,231
B 2,231 M/ i
N AW B A 2024. 06
1 /ﬁ( @’fﬂfﬁ%é A i A A 2024. 06
TR 1.000-00000 0.0 0
Moo 7wy Paft G ) 7wy JFERE UK (857 ny), 7 ny)
b b TR () 7. 5t & A 12. 5tLL T HAL i HAHCR HAff
ATYI PN 3D 1 38, 700
LW - B S ==y B HAA & SE
7 ny JREIA P TR - BEAT T T fie - 3%i&, 7. 5t &2 8 2. 12. 5tLL T, 9km
LI
&l 38, 700 38, 700
it 38, 700
Hiflh 38, 700 =P

5
I
lﬁ




N Ny 2 A 4 A 2024. 06
1 /ﬁ( @’fﬂf] %% At H AF A 2024. 06
SRR 1.000-00000 0.0 0
W o5 H¥7™ vy faft Gl L) 7wy pFEFH (BUK) (kAT wy), 7 ny)
e L %iE FE¥E (&) 7.5t 2 12. 5tLLF ==y & BAATE HLA
7Ty N L 1 45, 620
LW - B S ==y B HAA & SE
7"y JRIA P - - HE AT T AR, 7. 5t 2 2 12. 5tEL T, 9km
LI
1 45,620 45,620
erit 45,620
HH 45, 620 M
N AW HAffE A A A 2024. 06
1 /ﬁ( @’fﬂf] %% A i A A 2024. 06
TR 1.000-00000 0.0 0
oo | SR R — 1T
A AL N BN SR ] HAA 14, 490
LW - B S ==y B HAA & SE
WG i 5 B
AH 14, 490 14, 490
eit 14, 490
Rl 14, 490 M AH
- 8- TR IR




N Ny 2 A 4 A 2024. 06
1 /ﬁ( @’fﬂf] %% At H AF A 2024. 06
SRR 1.000-00000 0.0 0
Nz = 7“ U‘/ﬁ*ﬁf
T e BAfiT fi LAz e 1 EAlh 13, 780
LW - B % BAAT B HAA &HE SE
7wy IS (L) ) - RfT BLER) , 5987 ny) [Wh 78,
], e b, 3. 89t/ ML, £E%E v
/&, 80t i, D 500PSHY, E#h- i 13,771.6 13,771.6
N 13,771.6
Hifilh 13, 780 M
N AW HAffE A A A 2024. 06
1 /ﬁ( @’fﬂf] %% A i A A 2024. 06
TR 1.000-00000 0.0 0
T VARPYE (&S
A HLE f CTR” e . H 15, 430
LW - B % BAAT B HAA &HE SE
7wy i (L) ) - RfT BLER) , 5987 ny) [(Wh 78,
], g b, 3. 89t/ L, £E%E v
—/fIE R, 80t i, #D 500PSHY, F - & 15, 429. 56 15, 429. 56
it 15, 429. 56
Hiflh 15, 430 M

5
I
lﬁ




N Ny 2 A 4 A 2024. 06
1 /ﬁ( @’fﬂfﬁ%é At H AF A 2024. 06
SRR 1.000-00000 0.0 0
o | EEMSE 2 WVIE
B9k = T O _—
A [A] BN AR ) HiAl 628, 100
LW - B % BAAT % B &HE SE
SEe 7.5t &2 12. 5t T, HE%E (2 N)
(B ST 2 O HTEERE (B1))
H 628, 100 628, 100
&t 628, 100
Wi i 628, 100 M,/ [al
N AW B A 2024. 06
1 /ﬁ( @’fﬂfﬁ%é A i A A 2024. 06
TR 1.000-00000 0.0 0
o | 22T 1 HY Y A4
BHO10% N b R N N o s
HAL H BN SR ) B 114, 200
LW - B % BAAT % B &HE SE
LR FEUE, GIREH, SRR
FRP D 180PS%!
H 114, 154 114, 154
&t 114, 154
Wi i 114, 200 M, B
- 10 - T I




